## Form ACO-1 September 1999 Form Must Be Typed

## WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 5039	API No. 15 - 007-22986-0000
Name: A G V Corp.	County:Barber
Address: 123 N Main	NW _ SWSW _SE Sec. 20 Twp. 33 S. R. 10 ☐ East ₩es
City/State/Zip: Attica, Ks 67009	415 Sec Wp Bast Wes
Purchaser:Barr Energy	feet from S/N (circle one) Line of Section
Operator Contact Person: Larry G. Mans	feet from E / ( (circle one) Line of Section
Phone: ( <u>620</u> )254-7222	Footages Calculated from Nearest Outside Section Corner:
Contractor: Name: Val Energy Inc.	(circle one) NE E NW SW
License: 5822	Lease Name: Spicer Well #: A2 Field Name: Traffas
Wellsite Geologist: Kent Roberts	
Designate Type of Completion:	Producing Formation: Mississippi  Floration: Ground: 1500
New Well Re-Entry Workover	Kelly Bushing:
	Total Depth: 4785 Plug Back Total Depth: 4717
	Amount of Surface Pipe Set and Cemented at 236 Fee
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? ☐ Yes ☒ No
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFee
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tow/sx cmt
Well Name:	Drilling Fluid Management Plan
Original Comp. Date: Original Total Depth:	(Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content ppm Fluid volume bbls
Plug Back Plug Back Total Depth	Dewatering method used
Commingled Docket No	
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
3-10-06 3-19-06 4-18-06	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or	Quarter Sec. Twp. S. R. East West
Recompletion Date Recompletion Date	County: Docket No.:
Information of side two of this form will be held confidential for a period of 1 107 for confidentiality in excess of 12 months). One copy of all wireline logs TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	
herein are complete and correct to the best of my knowledge.	te the oil and gas industry have been fully complied with and the statements
Signature: Sauy & Man	KCC Office Use ONLY
Title: Date: 17/200	Letter of Confidentiality Attached
Subscribed and sworn to before me thisday of	If Denied, Yes Date:
\$2006	Wireline Log Received RECEIVED
Notary Public: Kayan Jonpis	Geologist Report Received JUL 1 8 2006
Date Commission Expires: 4.24.07 KAYAN TOMPKINSO	TO MAKE THE PROPERTY OF THE PR
State of Kansas My Appl. Exp. L., 24	7

Operator Name:	A G V Corp.		Lease Name: Spice			***	•			
Sec. 20 Twp.	33 s. a. 10	East 🔀 West	County		Barber	<del> </del>	Well#: A2			
tested, time tool ope temperature, fluid re	en and closed, flowing ecovery, and flow rate	and base of formations p g and shut-in pressures, s if gas to surface test, final geological well site	, whether sh along with fi	iut-in pi	essure reached	static level, hydr	ostatic pressu	res, bottom hole		
Drill Stem Tests Tak		☐ Yes    No			Log Formation	on (Top), Depth	and Datum	Sample		
Samples Sent to Ge	eological Survey	☐ Yes 🔀 No		Nar	ne		Тор	Datum		
Cores Taken Electric Log Run (Submit Copy)		☐ Yes      No								
Di M	ual Compens ual Inducti icroresisti onic Bond		У							
• •		CASING Report all strings set-	RECORD	N 🔀	_	ion ata				
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weig	ht	Setting Depth	Type of Cement	# Sacjs Used	Type and Percent Additives		
Surface	1	8 5/8	23		236'	60/40 Pc		2% Gel		
Production	n	5 <del>1</del>	14		4774	60/40 Pc	<b>2</b> 205	10% Salt 10% Gils		
		ADDITIONAL	OFMENTIN	0 / 00	JEETE 05000		<u> </u>			
Purpose: Depth Type of Cement Top Bottom Protect Casing				#Sacks Used Type a			and Percent Additives			
Plug Off Zone							<del></del>			
Shots Per Foot		ON RECORD - Bridge Plug ootage of Each Interval Per				ture, Shot, Cement				
2 SPF	4609-4629	orage or East interval for	1010100		(Amount and Kind of Material Used) Depth 2050 Gal 10% NE/FE 4609					
2 SPF	4648-4668			·	Frac 104,000# sand					
	- A				240,000 DGAl slick water 466					
						·				
TUBING RECORD	Size 2 3/8	Set At 4712	Packer At		Liner Run	Yes 🔀 No	· · · · · · · · · · · · · · · · · · ·	<u> </u>		
Date of First, Resumerd	Production, SWD or En	hr. Producing Meth		Flowing	Pumping	g 🔲 Gas Lift	☐ Othe	er (Explain)		
Estimated Production Per 24 Hours		bls. Gas	Mcf	Wate 1 1 5			as-Oil Ratio	Gravity 26.9		
Disposition of Gas	METHOD OF CO	<del></del>	1		Production Interv	al		· · · · · · · · · · · · · · · · · · ·		
☐ Vented ☑ Sold (If vented, Sui	Used on Lease	Open Hole Other (Specif	<b>⊠</b> Perf.		ually Comp.	Commingled	*			
		<u> </u>		, ' \	100 E	and comme		······································		

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

Invoice Number: 101282

Invoice Date: 03/15/06

Sold Attica Gas Venture Corp.

To: 123 N. Main Attica, KS

67009

11353

Cust I.D....: Attica P.O. Number..: Spicer A-2

P.O. Date...: 03/15/06

Due Date.: 04/14/06 Terms...: Net 30

Qty. Used	Unit	Price	Net	TX
99.00	SKS	9.6000	950.40	Т
64.00	SKS	5.2000	332.80	Т
3.00	SKS	15.0000	45.00	Т
5.00	SKS	42.0000	210.00	Т
171.00	SKS	1.7000	290.70	E
23.00	MILE .	11.9700	275.31	E
sk per mi				
1.00	JOB	735.0000	735.00	E
23.00	MILE	5.0000	115.00	E
1.00	EACH	55.0000	55.00	Т
	64.00 3.00 5.00 171.00 23.00 sk per mi 1.00 23.00	99.00 SKS 64.00 SKS 3.00 SKS 5.00 SKS 171.00 SKS 23.00 MILE sk per mi 1.00 JOB 23.00 MILE	99.00 SKS 9.6000 64.00 SKS 5.2000 3.00 SKS 15.0000 5.00 SKS 42.0000 171.00 SKS 1.7000 23.00 MILE 11.9700 sk per mi 1.00 JOB 735.0000 23.00 MILE 5.0000	99.00 SKS 9.6000 950.40 64.00 SKS 5.2000 332.80 3.00 SKS 15.0000 45.00 5.00 SKS 42.0000 210.00 171.00 SKS 1.7000 290.70 23.00 MILE 11.9700 275.31 sk per mi 1.00 JOB 735.0000 735.00 23.00 MILE 5.0000 115.00

All Prices Are Net, Payable 30 Days Following Date of Invoice. 1 1/2% Charged Thereafter. If Account CURRENT take Discount of \$ 300.92 ONLY if paid within 30 days from Invoice Date

 Subtotal:
 3009.21

 Tax....:
 100.37

 Payments:
 0.00

 Total...:
 3109.58

2808.66

RECEIVED
JUL 1 8 2006
KCC WICHITA

PAID MAR 3 1 2006

## ALLIED CEMENTING CO., INC.

LIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

SERVICE POINT:

RUSSELL, KANSAS 67665 MEDICINE (006E **RANGE** DATE 03-10-06 LOCATION OLD 160 + HAZELTON OLD OR NEW (Circle one) OWNER ATTICA GAS VENTURE TYPE OF JOB **HOLE SIZE CEMENT** AMOUNT ORDERED 165 SX 60:40:2+3%CM CASING SIZE & 5/8" DEPTH **TUBING SIZE** DEPTH DRILL PIPE TOOL DEPTH PRES. MAX **MINIMUM** COMMON . @ 9.60 950.40 MEAS. LINE **SHOE JOINT POZMIX** 64 @ 5.20 332.80 CEMENT LEFT IN CSG GEL @ 15.00 \_ 45,00 PERFS. CHLORIDE @ 42.00 210.00 DISPLACEMENT  $ASC_{-}$ **EOUIPMENT** CEMENTER **PUMP TRUCK** #360-265 **HELPER BULK TRUCK** 389 **BULK TRUCK** DRIVER **HANDLING** MILEAGE 23 TOTAL 2104,21 SERVICE DEPTH OF JOB PUMP TRUCK CHARGE **EXTRA FOOTAGE** MILEAGE 23 @\_5.00\_115,00 MANIFOLD . RECEIVED JUL 18 2006 TOTAL 850,00 KCC WICHITA PLUG & FLOAT EQUIPMENT To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment



SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX SALES & SERVICE OFFICE:

10244 NE Hiway 61 P.O. Box 8613 Pratt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX **SALES & SERVICE OFFICE:** 1700 S. Country Estates Rd. P.O. Box 129 Liberal, KS 67905-0129 (620) 624-2277 (620) 624-2280 FAX

## Invoice

Bill to	o:	553500	··· Invoice		oice Date	Order	Station	
	ATTICA GAS VENTURES	. [	603116	3	3/19/06	12488	Pratt	
	123 N. Main	2	2:15		Service De		W. 1937	
}	Attica, KS 67009 /139	55 [			Cem	ent		
	•			Lease		Well		
l			e egreen nige	Spicer		A-2		
ł		F		AFE		PO	Term	_
	CustomerRep		sait en eje		Tred	toe	Net 3	
	K. Roberts			·	C. Me		·	
ID.	Description			UOM	Quantity	Unit Price	Price	_
D205	AA2 (COMMON)			SK	150	\$15.37	\$2,305.50	- 1
D203	60/40 POZ (COMMON)			SK	55	\$9.82	\$540.10	` 1
C195	FLA-322			LB	113	\$7.50	\$847.50	• 1
C221	SALT (Fine)		•	GAL	776	\$0.25	\$194.00	` ';
C243	DEFOAMER			LB	36	\$3.45	\$124.20	
C244	CEMENT FRICTION REDUCER	RECE	EIVED	LB	43	\$6.00	\$258.00	. 1
C312	GAS BLOCK	11.11	0 0000	LB	141	. \$5.15	\$726.15	
C321	GILSONITE	JUL 1	8 2006	LB	748	\$0.60	\$448.80	
C141	CC-1, KCL SUBSTITUTE	KCC W	/ICHITA	GAL	5 -	\$44.00	\$220.00	i
C304	SUPER FLUSH II			GAL	1000	\$1.53	\$1,530.00	(T)
F101	TURBOLIZER, 5 1/2"			EA	10	. \$74.20	\$742.00	
F121	BASKET, 5 1/2"			EA	2	\$237.50	\$475.00	(T)
F171	LATCH DOWN PLUG & BAFFLE, 5 1/2"			EA	1	\$250.00	\$250.00	(T)
F211	AUTO FILL FLOAT SHOE, 5 1/2"			EA	1	\$320.00	\$320.00	(T)
E100	HEAVY VEHICLE MILEAGE - 1 WAY			MI	90	\$4.00	\$360.00	
E101	CAR, PICKUP OR VAN MILEAGE - 1 WA	Y		MI	45	\$2.50	\$112.50	
E104	PROPPANT / BULK DELIV SERVICES/TO	ON MILE,	\$200 MIN	TM	425	\$1.60	\$680.00	
E107	CEMENT SERVICE CHARGE			SK	205	\$1.50	\$307.50	
R210	CASING CEMENT PUMPER, 4501-5000' I	ST 4 HRS	ON LOC	EA	1	\$1,827.00	\$1,827.00	
R701	CEMENT HEAD RENTAL			EA	1	\$250.00	\$250.00	
R702	CASING SWIVEL RENTAL			EA	i	\$150.00	\$150.00	
S100	FUEL SURCHARGE				1	\$129.85	\$129.85	

PAID MAR 3 1 2006

Sub Total:

\$12,798.10

Discount:

\$2,278.96

Discount Sub Total:

\$10,519.14

Barber County & State Tax Rate: 6.30%

Taxes:

\$465.06

(T) Taxable liem

Total:

\$10,984.20

PLEASE REMIT TO Acid Services, LLC, Dept No 1131, Tulsa, OK 74182



/ Q	لمن ا	<b>.</b>	" <i>=</i>	NERE	sy ser	. Vices						4
/. /9		•	1		ı	ı~c.		नाना	$\mathbf{D}_{\mathbf{C}}$	BDED	1 10.	
			Date		Lease _	bject to Correction			שטע	RDER	' - '	
			Date 3-19-	<u>-06</u>	7 21	picer "	A"	Weil #	<b>)</b>	Legal	335-10	214/
SER	VICES	, L L C	Oustonier is	<u>,                                     </u>	County B	arber		State	S	1 4.4.00		) VV
o A.G	<u>s.V.,Co</u>	rporat	tion		Depth	Forma	ation			Shoe Joint	ratt	
H A	<del></del>	<del></del>	<u> </u>		55 141	Casing De	opth,	TD,		<u> 42.0</u>	)9'	<del></del>
R ——— G						o./fit. 47	74	TD 4786		<u>Cement</u>	-Long St	ring-Na
E		·			Iten.	t Rober-	ts	Treat	er aren	ice R.N	lessich	Wal
AFE Number	<u> </u>	· PO No.				,	/			4	10001011	vq
		PO Nun	nber		Materials Received by	X	J_	-6-	<u>'</u>			!
Product Code	QUANTITY	MATE	RIAL, EQUIPM	ENT and SE	RVICES USED	LINIT PRIC		190	L	AC.	COUNTING	<del></del>
0-205	150st.	AA-2			11010 0010	UNIT PRICE	E	MOUNT	СО	PRRECTION	AMOU	TNL
D-203	55 st.	60/4	O Poz			+			<del> </del>		+	<u> </u>
							+		-		<del></del>	
<u>C-195</u>	113Lb.	FLA	-322			<del>+</del>			<del> </del>	<del></del>	<del> </del>	
C-221	776 Lb.	Salt	(Fine	)		+	+		-		<del> </del>	
C-243	36Lb.	Defo	amer			<del></del>	<del></del>				<del> </del>	
C.244	43 Lb.			ction	Reduce	,,,	+		<del> </del>		<del> </del>	
C.312	141 Lb.		Blot	<u> </u>	TICALOC	+	+		<del> </del>	<del></del>	<del> </del>	
C.321	748Lb	Gilso				+-	-		<del> </del>		<del> </del>	<u> </u>
						+	+		<del> </del>		<del> </del>	
2K-141	Sgal.	CC-1	1			<del></del>	-					
C-304	1,000 Gal.	Super		ال م			+				<del> </del>	<del></del>
				<del>1</del>		<del> </del>	+		<del></del>			
F-101	10 eq.	Turbo	olizer	, 5 Y2"	<del></del>		+				<del></del>	
Filal	2 eq.	Baske	et. 54	/2 <sup>11</sup>			+					
F- 171	lea.	I.R.L.	atch D	aun f	5/1/2 (12)	Baffle	1 = 1				<del> </del>	
Fall	leq.	Auto F	7:11F1	oat S	has 54	Baffle	3 312-	= +			<del> </del>	
		i		•		1	+				<del> </del>	
8-100	90Mi.	Heav	· Vehi	cleM	legge	, I-Way	+					
2-1011	45 Mil	l Pichu	in Mila	ana 1-	-INay	* A A A A	+			REC	EIVED	<del></del>
8-1041	425 tm.	Bulkr	Pelive	<del>~y~→</del> ^\	<del>- V/ ~ /</del>	<del> </del>	+					<del></del>
E-107	205 sh.	Ceme	nt Serv	riceC	horas		<del></del>				8 2006	
			<u></u>	100	11.212-		<del> </del>			<b>CC W</b>	ICHITA-	<del></del>
R-210	lea.	Casin	a Ceme	nt Pun	noer 4	501'-5,	<del></del>					<del></del>
R-701	lea.	Cemer	nt Hea	d Rer	ital	201 7	000		<del></del>			<del></del> -
R-702		Casing					<del> </del>				<del>-</del>	
			<u> </u>	<u> </u>	131	<del></del>	<del> </del>					<del></del>
		Discou	unted	Price	=	4	1030	2 20				
	ł	Plust	TO YES				10,38					
10244 NE Hiw	ay 61 · P.O.	Box 8613 - F	Pratt, KS 67	124-8613	· Phone (620	l) 672-1201 - F	ex (620) 61	72.5393 -				
								# <b>**</b> **********************************	CHAL			